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A person can see near objectz clearly through
hiz eves bul canncof =e¢ distant objects
elearly. The possible reasgenis) for this defect
could be :

1. Exceesive curvature of the eve lone.
2.  The eve-ball has become too small.

3. The focal length of the eve lens is oo
large.

4. Elongation of the eyve-hall,

Select the correct answer using the code given

below :

fa} lonly

ib} 2 and 4 only
(el 1ond4only
idd 1and3only

Consider a journey by a car represented by the
graph given below in three parts A, B and C.
The speed of the car in these parts is v, v,
and v, respectively :

&

Dhgianos (m)
=

i =
Time (g)
Which one of the following is correct in this

case 7

) wvyg<w <V,
bl wp=v, >¥,
Bl vymYL =T,

id) Vo>V V>V,

(3-A)

A concave mirrer of radius of eurvature 50 cm
is used to form an image of an ohject kept at a
distance of 25 em from the mirror on its
principal axis. What will be the position of the
image from the mirror 7

{al At infinity
thl At 50em
iel  AtZ5em
(d} AtTHEcm

If the Moon is brought closer to the Earth such
that its distance from the Earth becomes half
of the original distanes, then the gravitational
force of attraction between the Earth and the
Moon wonld :

(a} reduoce to half of its original value.

ib} incremse to two times of ita original
value.

ie}  remain the same as the original value,

id) incresse to four times of its original
wvalue.

Somic boom is produced when 8 source of
sound travels at a speed

{a) greater than the speed of sound.
ib}  greater than the speed of light,
(el  lesser than the speed of sound.
id)  equal to the spesd of seand,

Which one among the following are the correct
symbals for the elements gold, tin and lead,

respectively 7

{a] Ga, Sh, Pb
() At Sn, Le
{e] Au, Sa, Pb
{dl  Au, Sh, Ph
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How much percentage of carbon dicxde is
present in the atmosphere of Venus and
Mars?

(el 45-47%
{b) 52-556%
el T4 -TT%
id] B5-97T%

8. Which among the following methods is used to
soparate the constitoents present in oa
eompound 7
(0}  Electrochemical method
(b}  Heating method
e} Fractional distillation
ld)  Decomposition followed by ion exchange

B. During white-washing of walls, slaked lime
reacts slowly with carbon diexide in air to
form a thin layer of ealcium carbonate on the
walls, Which of the following resctions
repregents this correctly 7
ta)  Calhis)+ COz(g) = Cal0y(s)

b} Cal i} « COyigl - CalOy s

(&) CalOH), () + CO, (1) — CalOyig) +
HyO

{d}  CalOH)g (agq) + COy ig) — CaCOy (s} +
HyO (I}

10. Which one of the following equations is the
balanced chemieal equation for the given
reaction 7
Fe+ HyO = FeyOy + Hy
(a}) Fe+4HO0 <+ Fey0, + H,

(b} 3Fe+ HyD = Fey0, + 2H,

e} 3Fe+ 4H,0 - PegOy +4H,

(d)  3Fe+4H0 — FeyO, + H,
JNUP-B-GKL

11.

12,

13,

14.

(5-A)

Thee termy, Phyvllotaxy refers to the pattern of ;

(a} arrangement of leaves.

(b}  bramching in stem.

(¢} flower formation on branch,

id)  arrangement of Nlowers.
Chromosomes are composed of DNA and -
al lipids

bl  vitamins

{e}  proteins

{dl  carbohydrates

Bacterin have an undefined noclear region
which lacks a nuclear membrane and contains
only TINA without proteine. Such a region is
ealled -

BMuoclenanme

(mh

ih} MNucleus

(e} Nucleoprotein
(df MNueleaid

In the following simplified diagram of &
plant cell, five partaforganelles are marked
from 1 to 5

Which one of the following ecorrectly
represents the above partaslorganelles 7

{a}  1-cell membrane; 2 — ecell wall;

3 — vacuole; 4 - endoplasmic reticulum;
5 —nudeus

1 —cell wall; 2 - cell membrane;

3 — endoplasmic reticulum; 4 — vacunle,
b - nucleus

1 = eell wall; 2 - cell membrane;

4 = endoplesmic reticulum: 4 - nuclens:
b = vocunle

1 - cell wall; 2 - cell membrane;

4 — vacuole; 4 - endoplnemic retienlum;
b — nucleus

ib)

el

(d}
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15. Which one of the following is the language of
the famous political treatise Amukimalvada ?
(al  Sanskrit
by Tamil
ic) Kannada
(dy Telugu
16. Which one of the fllowing statements about
the Shvetambara Sect of Jainism is mof
correct 7
() It refers to monks, who wear white
clothes.
ihl It refers to monks, who migrated to the
south of Vindhyas in 4ih century BCE,
led  They recognized the existence of
canofical bexts including the 12 Angas,
idi Thoy believed that women can also
attain salvation,
17. Where is the Vikramkhol Cave located 7
(gl Odisha
(b} Bihar
ic) Telangana
{d)  West Bengal
18. Consider the following statements regarding
the ‘Levallois Technigue' :
1, It refers to making perforated Harappa
pottery,
2, Tt refere to making prehistoric Make
toals.
Which of the statements given above isiare
correct 7
{2l 1only
(bl 2only
{c) Both1land?2
(d) Neither 1 nor 2
JHUP-B-GEKL

(7-A)

18 Which of the following statements iafare

correct 7

1.  The Bakshali Manuscript written in this
Gatha languape (a refined verzion of
old Prakrit) using the Sharada script
deals with topies soch as feactions,
gquare roots, arithmetic and peometric
progrossions.

2, In the feld of geometry, Aryabhatts
describesd the various properties of a
cirgle giving n very accorate value for
pi- {7k correct to four decimal places at
31416,

G Sharangadhara Samhita is an important
text on political system of ancient India.

Select the correct answer using the code given
below :

(a) 1,2and3
(b)  1and3 only
{e) 1andZ2only
fdl 2only

Which one of the following is not correct about
the Indian Independence Act, 1847 7

(n)  The Bill for the Indian Independence Act
was introduced in Parlinment on July 4
and reoeived the Roval Asesent on
July 18, 1947.

(b} Act of 1847 lmid down the basie
framework of the Indian Constitution.

(el The Act provided for the establishmont
of two independent Dominions to be
known as Indis and Pakistan,

idl The Aet empowered the Constituent
Assembly of each Dominion to have
unlimited power to frame and adopt any
constitution.
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As per the Cabinet Resolution of 1% January,
2015, the NITI Aayog consists of :

1. Prime Minister of India

2,  Governing Council comprising of Chief
Minigter of all the  States and
Lieutenant Governorss of Union
Territories

3.  Rural Development Minister
Chief Executive Officer to be appointed

by the Prime Minister

Select the correct anawer using the code given

below :

(a) 1,2and3

M 1, 2and4

(¢ 1and3only

id) 3Jand4only

The executive is given an advance grant to
meet temporary and running requiremaents of
Government of India in the beginning of the
new financial year until the demands are
voted by the legislature. This is known as

(a) Vote of Credit
ib) Vobe on Account

(e}  Appropristion Bill
idy  Advanes Account

Which of the following isfare United Nations
Sustainnble Development Goalis) 7

1. Decent work and economic growth
2. Peace, justice and strong institutions

4. Responsible consumption and production

Select the correct answer uging the code given
below :

(a) 1and 2only
b} 1, 2andd
(e} 2only

(d} 1and3only

(9-A)

24. Consider the following statements on ‘Fog'

1.  Fog iz simply a cloud that forms close to
the ground.

2 Rodintion fog 15 associgted with
radiation cooling of the land at night,

3 Advection fog forme when moisture is
blown over a cold surface and i= chilled
by contact,

Which of the statements given above are
correct 7

ta} 1 wmnd 2only
(b} 2 and 3 only
&) 1 and3only
ddé 1,2and3

Which one of the following landforms isfare
formed by wind eroson 7

fal  Cirque
by Stack
e} Zeugen

id}  Stack and Zeugen both

Which one of the fllowng crops 3 mod

cultivated under dryland farming 7
ia)  Jowar

(b} Ragi

ic} BSugarcane

id)  Groundnut

Which one of the following forms of settlement
developa around a lake 7

ia) Linear

by Croas-shaped
e} Cincular

id)  Sguare
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How can resourcas bé classified on the basis of
their origin ?

in) Biotic and abiotic

ibl] Renewable and non-renewable

(e} Individual and community

(d} Potentisl and ressrve

29, Which one among the following is the highest
mountain in Africa 7
(g} Atlas Mountain
by  Mount Kilimanjare
e} Mount Kenya
d)  Mount Elgon
30. Which of the following action(s) by the
Government would lead to contraction of
money supply in the economy 7
1. Purchase of Treasury Bills by the
central bank from public
2. Sale of Treasury Billa by the coentral
bank to public
3. Sale of foreign exchange by the central
bank
4. Purchase of foreign exchange by the
central bank
Select the correct answer using the code given
below ;
i8) 1 and4only
{b)  1and3only
() 2 and3only
(d} Zonly
81. Which of the following are included in the
definition of Narrow Money 7
1.  Currency with the public
2 Demand deposits
3 ‘Other’ deposits with Reserve Bank of
India
4. Banker's deposits with Reserve Bank of
Indin
Select the correct answer using the code given
below
{a) 1,2and4
(b} 1and2only
¢} 1,2and3
id) 3 and4 only
JNUP-B-GKL

(11-A)

Which of the following isfare the effects of

devaluation or depreciation of rurrency 7

ik It leads to increase in imports and
decrenze N XTI

2. It leada to increase in exports and
decrense in imporis,

: It leads s increase in domestic inflation.
4. It leads to decrease in domestic
inflation,

Salect the correct answer using the code given
besborw

ia) 1and 3only
(b) 1and donly
ie) 2 and 3 only
id) 3only

Which one of the following taxes i nof

subsumed under the Goods and Services Tax

im India ?

(@) Customs Duties

hi Central Excise Duties

(e} Bervice Tax

{d) Taxes on Petroleum and Petroleum
Products

The following diagram shows a pendulum at
different positions. Which one of the following
statement is true 7

715

{a) The pendulum hss minimum potential
energy at positions P and T,

b} The pendulum has minimum potential
energy at positions & and 5.

{e} The pendulum has minimum potential
enargy at position R.

{d} The pendulum has same potential
energy at all positions,
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In which of the following media is the speed of
sound the maximuam ?

(np Glass
(b Btainless steel
el Water

{d) Oxygen

A charged particle moves through a magnetic
field B with u velocity v. Which one of the
following statements is true for the force (F)

experienced by the particle ?

{al F iz maximom when v and B are
parallel to each other,

(hi F ia maximum when v and B are
anti-parnllel to each other.

fe] F ia maximum when v and B are
perpendicular to each other,

{dl The force F is independent of the angle
between v and B,

Which one of the following is the correct
relation between Celsive and Fahrenheit

tomperature scales 7

(Symbols carry their usual meanings)
10

(al Tg =?T1: +32

B)  Ty=oTo+38

L]
{e) TP=E'I'E+HH-

9
id) TF' =ET¢ +32

(13=4A)

d8. Which one of the following statements is

correct regarding the travel of a light beam
from a rare to n dense medium ?

{a) A light beam travelling from a rare
medium to o dense modiom slows down
and bends townrds the normal.

thy A light beam travelling from a rare
medium to & dense mediom speeds up
and bende towards the normal,

ie} A light beam travelling from a rare
medium to 8 denseé medium slows down
and bends away from the normal.

(dr A light beam travelling from a rare
medium to a dense medium speeds up
and bends away from the normal.

In which one of the following cases do both
phyzical and chemical changes take place 7

(a) Burning of candle
(b} Freezing of water
(e} Cooking of food
{d} Rusting of iran

Which one of the following statements =
correct about diamond and graphite 7

ta) Dianmond and graphite have gimilar
physical and chemical properties,

(b} Diamond is hard but graphite is smooth
nnd slippery.

(¢} Diamond and prephite are  both
nin-conductors of electricity.

id} Both diamond and graphite have similar
structures.
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Which one among the following substances is
a enmpound ?

2l Sugar

(hy Air

el Milk

(dl Tea

What - is the total number of naturally
eccurring elements 7

(&) 114

by 94

ich B

d) 82

Which one of the following
regarding acids is ned correct 7
{a) Hydrochloric acid I8 present in the
gastric juice gecreted by the stomach,
Acetic scid s the main constituent of
Vinggar.

el Omalic acid is found in thmarind paste,

id} Lemon and orange juices contain cltric
acid and ascorbic acid respoctively,

stotoments

(b}

Which one of the following ia the correct
combination of organelles and their functions 7
{a) Mitochondria — Respiration: Chloroplast
— Photosynthesis; Ribosome - Protein
Synthesis; Rough endoplasmic reticulum
~ Tranzpart of proteing

Mitochondria - Respiration; Chloroplast
— Photosynthesis; Ribosome - Transport
of proteins; Hough endoplasmic
reticulum - Protein synthesis
Mitochondria - Respiration; Chloroplast
—  Protein synthesis; Ribosome -
Photesynthesis; Hough  endoplasmic
reticulum - Transport of proteins
Mitochondria - Photosynthesis;
Chloroplast — Hespiration; Ribosome -
Protein synthesia; Rough endoplasmic
reticulum — Transport of proteins

1 e1]

i)

id)

47.

(15=A)

Cell wall is absent in which one of the
following organisms 7

in} Bacteria
ib}  Diatom

iel  Mushroom
id} Tapeworm

Water goes up through xviem vessels in tall

trees, The proeess in plants and properties of
wiber that help in upward movement are :

{a) Hespiration and cochesion

(b} Transpiration pull, cobesion and
adhesion

(¢} Hoot pressure, eohesion and adhesion

idi  Transpiration and sdhesion

Energy and nutrients flow from one trophic

level to another in an ecosystem. Which one of

the following statements correctly describes

the direction of flow of energy and nutrients m

an ecosystem T

ial Energy Now is evclic and nutrient flow is
unidirectional,

i) Energy flow iz unidirectionnl and
nutrient flow is eyelic,

ic) Both energy and nutrient flow are

idl Bothenergy and notrient flow are eyelic.

Which sne of the following 12 a saprophyte 7

i in} Cuscuio
(bl Rhizopus
(el  Spirogyra
id} Grass
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49. In ovules of Angiceperms, which one of the
following is med a haploid cell ?
fal Nucellus
ibl Synergid
(e} Egg
(d}  Antipodal
60. Arrange the following events pssociated with
Shivaji in chronologieal order -
1. Attack on Afeal Khan
z Capture of Torna
3.  Attack on Shaista Khan
4. Annexation of Javli
Salect the correct aneswer using the code given
below
ml 2,4,1,3
b 4,213
(e} 1,2.8.4
id) 31,24
861. Who among the following is the author of the
hook “The Indian Struggle 1920 — 1942'7
ia} Vinayak Damodar Savarkar
ib}  Subhas Chandra Bose
(e} Vallabhbhai Patel
id) Sarat Chandra Bose
52, Who among the following 8 nof a woman
Nayanar smint 7
(o)  Karsikkal Ammaoiyar
bl  Mangayarkkarasiyar
el Andal
id}  Iemignaniyar
JNUP-B-GKL

53,

(17=A)

Which one of the following pairs of terms and
their meanings is mod correctly matched 7

ia) Nagarakkani Land owned by the
nagaram

(b} Nattar Male serpent deity

e  Yupa Sacrificial post

id) Viragal 'Hero stone’ in the
Tamil Nadu area

Where is the famous Gupts period Deogarh
Temple situated

{a) Uttar Pradesh
ib}  Madhya Pradesh
(¢) Chhattisgarh
(d)  Rajasthan

Congider the ollowing stolements with
reference to the Nataraj Bronze sculpture of
Chola period ;

1.  Bhiva is shown balancing himaell on his
right leg representing tirobhaca.

2.  Shiva i shown raising his left leg in

bhufaongoiresita  stance, representing
kicking away the illusion Ffrom the
devoles's mind,

3.  The main right hand holds the damaru,
Shiva's favourite musical instrument.

Which of the atatements given above afare
correct 7

1 only
2 anly

[a}
1]
(e} Zand3only

id} 1,Zand3
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Which of the [ollowing statements  about

ASEAN are correct T

1. The Charmansghip of ASEAN rotates
snnually based on the alphabetical order
of the English names of Member States,

2. The Chairmanship is decided by voting
nmong the Member States.

3 “One Vision, One [dentity,
Community” is the ASEAN motto.

4.  12* Apgust is celebrated as ASEAN

Oine

ray.
Silect the correct answer using the cede given
balow ;
@) 1 wnd2only
(b} 1 omd 3 only
el 3 mnd 4 only
fd}y 1,2, 3and4

Consider the following statements about the

Public Distribution System :

1. The Public Distribution System is
operated under the joint responsibility of
Centre and StateUnion Terntones.

2. Food Corporation of India has assumed
the responsibality for procurement,

storage and transportation of food graing
to the State Governments,

60,
3. Both Centre and State have the joint
responaibility to  identify  eligible
beneficinries.
4. Bome States alse distribute additional
items of mase consumption through the
PDS outlets such as pﬂlﬂ-ﬁl edible oil,
eie,
Which of the statements given above are
earTect ¥
{a) 2 and3 only
ib) 1,2 andd
fe} 1 and32only
id) 3 and4 only
[19-A)

Which of the following concepts are considered
na pillars of Human Development 7

1. Equity

2. SBustainability

3. Productivity

4. Becurity

Select the correct answer using the code given
bekow :

fnl 1 andZ2 only
by  3and 4 only
fel 1, 2and 3 only
idl 1,2 3and4

Which one of the following pairs of events and
vears i# not correctly matched 7

Launch of the firat
communications satellite

Completion of a continuous
around the world fibre-optic
cable link

Creation of the SWIFT system
for warldwide slectronic
interbank fund transfer

{a)
i 1562

(b}
1 19897
Lel
¢ 1877

Introduction of the
World Wide Web (www

idi
1986

Tdentify the type of soil on the basis of given

characteriatics :

1. They contain a large proportion of
podium, potassium and magnesium, and
thug, they are infertile.

2,  Their structure ranges from sandy to
loamy,

3. They are more widespread in western
Gu,]aratfdaltﬂanfthemﬂmmnnd

in Sunderban areas of West Bengnl,
in} Peaty soil
(b} Laterite soil
e} Arid soil
idi  Saline soil
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61. Which one among the following State capitals

is closest to the Equator 7

ia) Hyderabad
{b) Bhubaneswar
el Panaji

id)  Mumbei

Which is the only country in the world to
officially proclaim the Gross National
Happiness (GNH) sz the measure of the

country's progress 7

(n) Finland

(b}  Bhutan

e}  MNepal

idl Switzerland

Consider the following statements ahout
clouds :

1. Two muajor forms of clouds are stratiform

pnd cumuliform.

2 According  to the altitude, clouds are
elasgified az high clouds, middle clouds
and low clowda.

2 8 Stratus, nimbostratus and
giratocumiilus are types of high clouds.

4.  Clouds having nimbe attached to their
name produce precipitation.

Which of the statements given above are
correct 7

1 and 2 anly
1,2 and 4

(|l
ihh
lel

ek

2 and 4 only
1,3 nnd 4

84. Which one of the following expenditures is

Gifi,

(21-4A)

subtracted from Fiscal Deficit o arrive at
Primary Deficit ?

ia) Defence expenditure

bl Expenditure on subsidies
icd  Interest pavments
id)y Pension

Thi: Wholezsale Price Inflation has increased in
India during 2021 — 2022 due to which of the
following factors 7

1. Bharp increase in international prices of
crude oil

2.  Decrease in economic activity post-Covid
3.  Disruption of global supply chain
4. High freight cost

Select the correct answer using the oode given
balow :

(a) 2 and 8 osly
by 1 3and4

iel lm.ld 2 only
(d}  1and 4 only

What would be the impact on the economy if
people start holding more currency in hand
and less in deposits T

fal  Money demand will incresae
(b}  Money multiplier will decrease
(¢} Money multiplier will increase
idl Money demand will decrease
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87. BDG India Index, developed by NITI Aavog,
includes 17 S[MGs for each State. Which one of
the following 1z mot ineluded in that index 7
{n) Fero hunger
{b) Reduced onemployment
{ed  Life below water
{dl Responsible consumption and
production '
B8, Other things remaining constant, the market
supply for a good increases if :
1. ita price increnses,
2. price of its factors of production
decronses,
Select the correct answer using the code given
belowr
(s}  1and2enly
(b} 1 and 3 only
ik 2 and 3 only
idl 1,2and3
88. Consider the following statements regarding
poverty in India :
L While determining poverty line in India,
a minimum level of food requirement,
clothing, footwear, fuel and Jight,
educational and medical requirements,
ete. are determined for subsistones.
2. The  ascoepted avernge  calorie
requirement in Indin is 2400 calories per
persen per day in rural areas and 2100
calories per person per day in urbam
HTEES.
Which of the statements given above isfare
correct 7
ia) lonly
by Zonly
e} Bothland2
(dy  MNeither 1 nor 2
JNUIP-B-GRL

70,

T1.

(23-A)

Which of the following statements isfare
correct ¥
1.  Shivaji sent an ambassador to Bombay

to negotinte an agreement with the
English.,

2 His chiel motive was to secure English
wid against the Siddis of Danda-Rajpuri.

3, He wanted a supply of grenades,
martars and sther ammunition,

Select the correct answer using the code given

balow ;

(a} 1 only

(b) 1 and3 only
(e} 2and3only
d) 1,2and3

Thie fmmous Hathigumpha inseription of
Eharavela mentions that in the eleventh year
of his remign, Kharavela destroyed a
confodericy of Tamil States, *Tramiradesa
Sanghatam”, which had long been a source of
danger. How old was this confederacy of Tamil
Brates at that time 7

{a] 110 years old
(b} 111 yearsold
(e} 112 years old
id} 113 years old

Which of the following statements about the

Vaishnava saint of Assam, Shankardeva,

iafare correct 7

1. His teachings are often known ag the
Bhagavati dharma.

2,  He encournged the establishment of
gabros or monasteries and namghars or
proayer halls for the tranamission of
spiritual knowledge.

3. His major compositions include the
Kirtana-ghosha.

Select the correct answer using the code given

beestow :

(a} 1and2only
{by 2 and 3 only
el 1,2and 3
(d} 3 only
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T3. Abdur Hazzaqg, an ambassador of the ruler of

.

JHNUP-B-GKL

Perzia, was sent to Calicut in the fifteenth
century. He was greatly impressed by the

in) ' Fortifieationa of Calicut

by Climatic conditions of the coastal town

ic}  High quality spicea of the place

idl Musical traditions of the place

Which of the following statements about the
‘Race to Zere Campaign’ isfare correct 7

1. One of the main ohjectivea of the Race to
Zero Compaign 18 to build momentum
around the shift to a decarbonized
BEONHMY,

2. It is related to the theory of Zero-Sum
Game,

Belect the correct answer using the code given
helow ;

{(a} 1 only
ih) 2 only
(¢} Bothland?2

(di  Meither 1 nor 2

(25-A)

76. Which of the following statements about

National Action Flan on Climate Change

{(NAPCC) with reference to India issre

eorrect 7

L. It emphasises that maintaining a high
growth rate is essentinl for reising the
living standards of the vast majority of
the people of India amd reducing their
vulnerability to the impaect of elimate
change.

2. It was released in 2014,

Select the correct answer using the code given

bolow :

ia) 1 omly
tb)  2only
tel  Both 1 and 2

idi MNeither 1 nor 2

What does India's “Blue growth” refer to 7

a) Upgradation of Indian Air Force

(bl Dhscouraging farmers from using

ia

(e} A long-term stralegy to support
sustainable growth in the marine and
maritime sectors

id)  Socie-economic empowerment of India’s
blue collar workers in the unorganized
sector

Which of the following atatements shout

‘Operation Sadbhavana' in Ladakh isfare

correct 7

1. Indian Army undertakes welfare
activities, such a3 running of Army
Goodwill Schools in remote areas of

Ladakh.
2 It aims at building harmonicous
relationahips between religious

communities in Ladalkh.
Select the correct answer using the code given

below :

{al 1 only

ib}  Zonly

fe) DBothland2

(dl MNeither 1 nor2
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T8.  Which ane of the following is mof & permanent
member of the UN Security Council ?
ia) France
(b}  China
) Japan
{dl  United Kingdom
T8, Congider the following statements about same
planets in the solar syetem :
I.  Mercury has no atmosphers,
2. Venus has two moons.
4.  There is no land on Jupiter.
4. R;ingnufﬂllmmaremmpmed of lumps
of ice and dust.
Which of the statements given above are
correct T
{m} 1and2onty
ib} 3 and 4 only
e} L Z2and3d
td} 1,3 nnd4
B. Which one of the following passes iz Aed
loeated in Indinan Himalayan region 7
a2l Zajila
(b}  Bolan
el Shipkilan
(d}  Lipulekh
JNUP-B-GKL

(27-A)

Which one of the following set of trees does
not belong to Temperate Floral Zone of
Himalaya 7

{a) Cashewnut and Magnolin
{b)  Oak and Maple

{c) Rhododendrons

idi  Birch and Laurels

Which one of the following statements about
plantation agriculture is Rol correct 7

in})  Plantation farm estates are scientifically
managed.

(b} Plantation farming requires heavy

{e) Plantation farm lands have mainly
foreign ownarship and local labour,

{dl Plantation farmers rear the animols for
sale.

Match List I with List IT and select the correct
answer using the code given below the Lists :

Ligt [ Ligt 11
(Name of Shifting {Country)
Cultivation)
A, Rocn 1. 8SriLenka
B. Chensn 2. ‘Thailand
C. Masole 3. PBrazil
D. Tamnrai 4, Zpire
Code :
A B € D
im) 2 4% 1 3
() 2 g o4 B
] 3 4
s B2t 4R
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B4. Consider the following statementa with
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reference Lo Paleolithic tools |

L Isampur was a8 well-known center of
stone tool manufacture located in
Crulbargs district of Karnataka and was
gituated along & small seasonal stream
known as Kamta Halla,

2. A Paleolithic blade is a flake tosl, the
length of which is more than twice its
widtih.

Which of the statemente given sbove isfare

correct 7

1
(bl

1 omly

2 only

Both 1 and 2
Neither 1 nor 2

[k}
{d]

Consider the following statements about
science in medieval South India :

L. The Katapayadi system of numerals,
which was invented by Vararuchi of
Kerala, the author of Chandra Valkyas,
wis used for ealeulating the pesition of
Moon on any day of the year,

2. Achyuts Pigharati (1550 - 1621) wrote
Uparagakrivakrama, a text on eclipses.

3.  Ravi Varma of Mahodayapuram set up
an observatery and is also said to have

inaugurated the Kollam era.

Which of the statements given nbove isfare
correct T

1 and 3 only
3 only

1.and 2 only

fal
b}
ig)
(d)

1, 2 and 3

B7.

(28-A)

Which of the following dynasties of South
India issued their documents firet in Prakrit
and later in Sanskrit ?

The Chalas of Tamil Nadu
The Pandyas of the post-Sangam Age
The Pallavas of Tondaimandalam

The Gangas of Kalinganagara

()
(b}
il

1et)

Who was the author of the Gwalior Prashasti
of Mihira Bhoja ?

Nagabhata
Vatsaraja
Baladitya
Kakkuka

(ak
()
icl

id}

The Sshajiva Cult, which cun be traced back
to 10% and 1™ centuries, is usually
agsociated with ¢

early Bhakti traditions

a kind of edarly Sufism

early Upanishadic philosophy
Buddhism

()
(k)
{e
{d)

The landmark Supreme Court judgment in the
case Sublash Sharma v. Unien of India (1991)
refers to which ope of the following basic
foatures of the Constitution of India 7
Judicial Review

Rule of Law

ial
(h)
(el Fres and fair elections

id)  Fundamental Rights
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Which of the following statementz about the
Panchayats in India, 85 per the Constitution
of India is'are correct ?

L There is a provision for reservation of
seata for the Scheduled Castes snd
Scheduled Tribes.

2.  Panchayatzs are not authorised to collect
taxes,

Select the correct answer using the code given
below ;

ta} 1only

(b} 2 only

ic} Both 1 and 2
(d} Neither 1 nor 2

Which one of the following statements about
Mission Indradhanush, launched by the
Government of India in 2014, i& correct ?

fa) It relates to provisions for Child Health

Screening and Early Intervention
Services,

{b) It meets the diverse¢ health needs of
ndolescents,

el It pims  to  increase  the  full

immumnization covernge for children.

tdl lta objective is to achieve universal
aceesi to equitable, affordable, and
quality healthcare services.

Which one of the following amendments to the
Constitution of India has  introdeced
reservations in education and in public
employment for people from the Economieally
Weaker Sections (EWS) of socioty 7

(a} The Constitution (101" Amendment) Act
(b} The Constitution (102%™ Amendment) Act
(¢} 'The Constitution (122° Amendment) Act
(d) The Constitution (103" Amendment) Act

(31—A)

8. Which among the following Fundamental

Rights is mof suspended when an Emergency
is declared 7

{a) Protection in respect of conviction for
offences

(b}  Right to constitutional remedies

e} Right to meove freely throughout the
territory of India

(d) Eguoality before law

Any question pertaining to the disqualification
of a member of the Lok Sabha on the ground of
defection is decided by

(a)  The President of India

(b}  The Speaker of the Lok Sabha
ic!  The Supreme Court of India
(d) The eoncerned Political Party

Which one of the following statements sbout
Indian Maritime University (IMU) is nof
correct 7

fal It was established through an Act of
Porliament as a Central University,

(hi Tt was established primarily to support
the Indian Navy,

lel It iz located in Chennai,

tdl It was established to extend the benefits
of knowledge and skill for development
of individuals and society by nssociating

closely with local, regional and national
irgwea of development,
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98, Which of the following pairs isfare correctly
matehed
Flateau Continent
1.  Abyssinian Africa
2. Patagonian Australin
4. Anatolian Asia
4. Iberian North America
Select the correct answer using the code given
belowr ;
tal  1lonly
(b) 1and 3 only
(el 2,3 and4only
(d} 1,2, 3andd
87. Which of the following pairs of Isolines and its
properties are correctly matched ?
1. lsonif Saowfall
2. Isohel Sunghine
4. lschaline Salinity
4. lsohypse Cloudiness
Select the correct answer using the eode given
below :
la} 1, 2and A
ib) 2,3andd
el 1and 3only
(d)d 1, 2and4
JNUP-B-GKL

1M},

(33-A)

Which of the following is the correct order of
clouds in ascending order (lowest to highest) of
height from surface ?

1. Cirrocumulus
2 Nimbostratus
5 Cirrus

4 Altostratus

Select the correct answer using the code given
balow :

W) 1248
by 2,4,3,1
e} “3:8 1.4
d 24,13
Which of the following pairs of revolution in

agriculture sector and its production are
correctly matched?

1. Pinkrevolution : Shrimp production
2. Yellow revolution : Dilzepds production
4. Black revolution : Biodiesel production
4. Golden revolution . Egg production

Select the correct answer using the code given
below ;

(a) 1.2andd

(hl 2 and 3 only
fe) 1ond3only
id) 2 and4only

Which one among the following statements
about National Highwaye Authority of India
{NHAIL} is mat correct ?

fa) NHAI collects foes on the National
Highway,

NHAI conduets training of Highway
Engineers at entry level and in-servies,

NHAI  provides consultancy and
eonstruction services in India and
abroad.

NHAI regulates and eontrola the plying
of vehicles for ite proper management,

1-}

(&)

i
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101. Which of the following statements about the

102,
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Mational Centre for Good Governance (NCGG)
are correct 7

1. NCGG was set up by the Sardar
Vallabhbhai Patal National Police
Academy.

2.  The National Institute of Administrative
Research (NIAR) has been rechristensd
and subsumed into NCGG,

3. NCGG is an apex-level autonomous hody
under the Ministry of Home Affairs.

4. The Chairperson of the Governing Body
of the NOGG is the Cabinet Secretary to
the Government of [ndia,

Select the correct answer using the code given
below :

1,2and 4
2 and 4 only
1 and 8 only
3 and 4 only

&)
()
()
id)

Mateh List T with List [I and select the correct
answer using the code given below the Lists -

Ligt [ Lizt IT
(International (Theme)
¥Yoga Day)

&8 Edition L
T Edition 2

Yoga for well-being
Yoga for health -
Yoga at home

Yoga for Vasudhaiva
Eutumbakam

Yoga for Humanity

B Edition 3.

o Bdition
Code :
{a}

{h)
LEd

-
i S - |
Hﬁ#l-ln
U A

(d}

103,

104.

104,

106,

109,

(35-A)

The joint multinational maritime exercise
named [BSAMAR iz conducted by the Navies
of which of the following countries ?

{a) India, Bangladesh, Sri Lanka und
Maldives

Indis, Bangladesh and South Africa
India, Bangladesh, Sri Lanka and
Mauritiuz

India, Brazil and South Africa

b}
(e}

(e}

In which one of the following cities is the
Heliopolis  Commonwealth War  Grave

Cemetery located 7

(a} Marseille

(b} Washington D.C,
el Caire

(d) Athens

Under which one of the following rivers has
India's firsl underwater metro rail tunnel
been constructed 7

{a} Yamuna
ihl Ganga
(¢}  Hooghly
(d)  Gomti

Which among the following set of national
teams  participated in the South Asian
Foothall Federation Champicnship — 2023 7
{al  Sri Lankn, India, Bangladesh

(b Lebanon, Kuwait, Pakistan

e} India, Pakistan, Myanmar

(d) MNepal, Sri Lanka Bhuotan

Which butterfly species was recently named
the efficial butterfly of Jammu and Knshmir ?

{a) Noble's Helen
ih)  Kaizar-i-Hind
icd  Bloe Duke
id) Bloe Pansy
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108, Which compeny operated the ill-fated Titan
submersible which recently imploded killing
all five passengers while on a dive to visit the
Titanic shipwreck onder the waters of the
North Atlantic ?

{a)  Osdvssey Marine Exploration

b} MARE. (Marine Adventure for
Regearch and Edueation)

2] DesantGote Expeditions

id} Beafarer Exploration Corporation

108. Which among the following is India's longest
road tunnel 7
fa) Atal Tunnel
(b}  Kuthiran Tunnel
el Dr.Syama Pragad Mookerjee Tunnel
(d} Banihal Qazigund Road Tunnel

110, Match List | with List Il and selset the correct
answer uging the code given below the Lists :

Ligt [ Lize I
{Padma (Category)
Vibhushan ! Padma
Bhushan Awardes,
2023)
A,  Dilip Mahslanahis 1, Literature &
{ posthumous) Education
B. Sudha Murthy 2. Publie
Affairs
C. S5.M. Exishna 3. Social Werk
¥, S.L. Bhyrappa 4, Medsicine
Code :
A B C D
) 4 3 & 1
My 4 2 3 1
@1 2 08 d
@ 1 8§ % 4
JHUP-B-GKL

111. Match List 1 with List 11 and select the correct

113.

(a7 —A)

angwer using the code given below the Lists

List [ List IT
(Festivals of North (Statel
East India)
A. Hornhill Featival 1. Meghalaya
B. Chapchar Kut 2. Siklkom
C. Nongkrem Dance 4. Nagaland
Festival
0. Sage Dawa 4.  Mizoram
Code :
A B C D
a) = 4 3
(b 3. L U''§ =2
o)y 2 A 1 8
a3 1 & B

From which one of the following countries has
missile system 7

United Kingdom

U.5.A.

Franoe

Fuesis

{al

b
)
td)

Abhinav Bindra is the winner of the first ever
individunal Olympic gold medal for India. He
won gold in which shooting event and in which
Olympic Games 7

10 meter wir pistol, London
10 meter air rifle, London
10 meter air rifle, Beijing
10 meter air pistol, Beijing

(a)
ik}
(el
(d)
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114. Cheetahs were recently re-introduced to India
from Africn. From which language ig the name
Cheetah' derived 7
fn)  Bwahili
fhi  Afrikasne
fel Bomali
id)  Sanskrit

118, A new species of pit-viper was discovered in
2018 and named after the State in which it
was found. ldentify the State from among the
following
la) Kerala
(bl Arunachal Pradesh
be)  Andaman and Micobar [slands
(dl Assam

116. Who among the following set of players Irom
India have either won or secored the
runner-up  pogition  in the All England
Badminton Tournament ?

im} Prakash Padukons, PV. Sindhn,
Parupalli Kashyap

(b} Pullela Gopichand, Saina Nehwal,
Lakshya Sen

(¢} Prakash Padukone, Pullela Gopichand,
Srikenth Kidambi

(d) Lakshya Sen, Baina Mehwal,
P.V. Sindhu

117. Who among the following leaders recently won
the election to the office of the Prosident of
Turkey 7
{a} Recep Tayyip Erdogan
(b} Kemal Kiligdarogla
fe}  Ahmet Necdet Sezer
{d)  Abdullah Giil

JNUP-B-GEL

118.

119.

120,
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Geargi Gospodinoy ﬂam‘g:lm won  the
International Booker Prize, 2023 for the
darkly comie novel by the name :
ia)l  The Promise
(b} Shuggie Bain
e} Time Shelter
(dy il Woman, (Wher
The Grand Order of the Choin of the Yellow
Star is the highest civilinn honour of which
umong the following countries 7
in) P
(b} Papua New Guinea
(e} Egypt
(dl BSuriname
Which one among the following correctly
represents the theme on which the interiors of
the new Parliament Building is based 7
Lok Sabha Rajva Sabha
fa) Lotus Banyan
b} Peacock Lotus
(o) Peacock Banyan
{d} Lotus Feacock




wel W1 & for0 W
SPACE FOR ROUGH WORK

JNUP-B-GKL (40-A)



&= W & foo s
SPACE FOR ROUGH WORK

JHUP-B-GKL (41=A)




e W & e e
SPACE FOR ROUGH WORK

JNUP-B-GKL (42 —A )



&= wH % foro g
SPACE FOR ROUGH WORK

JNUP-B-GKL (43-A)




DO NOT OPEN THIS TEST BOOKLET UNTIL YOU ARE TOLD TO D S0

10,

T.B.C. : JNUP-B-GKL Test Booklet Series
TEST BOOKLET
GENERAL KNOWLEDGE
—_ﬂ
Time Alloweed : Two Hours Maximum Marks : 100
INSTRUCTIONS
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Admission Certificate.
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OBJECTIVE TYPE QUESTION PAPERS.

(i' There are four alternatives for the anewer to every question. For each gquestion for which a
wrong answer has been given by the candidate, one-third of the mar assigned to that
question will be deducted as penalty. .
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ﬂiiﬁﬁ“imn' answers happens to be correct and there will be same penalty as above to that
o I

{iii) If a question is left blank, i.e., no answer is given by the candidate, there will be no penaalty for
that question.
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